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- 10.

11,

~ Imnstructions
Answer all questions.
All questions carry equal marks. .
In this booklet, the questions from

‘gerial no. 1 to serial no. 10 are related -
to general awareness while questions .

from serial no. 11 to-serial no. 70 are
subject specific.

Each question has four alternatives
marked as (A), (B), (C), (D).

Choose only one alternative as an
answer of a question.

If more than one answer is marked
then it will be treated as wrong
answer.

Candidate has to darken only one circle
indicating the correct answer on the

' OMR sheet by using BLUE/BLACK

BALL POINT PEN.
There is no provision of Nggatlve
arking.

Carrymg Mobile phone in the

. -examination hall is strictly prohibited.
If any objectionable material is also
found, then action will be taken as per .|

Umver81ty norms.
Please fill your Roll No. and other

.information carefully on OMR sheet.
In case of any mistake on OMR sheet,

candidate will be responsible.
If there is any difference between
English and Hindi version of questions,

- then English version shall be correct.

10.

11

Max1mum Marks/T’TVEF 70

mﬂwﬁ%wﬂﬁﬂ |
AR YR R SFIIHE | |
T v Y § wiw 19 %% 10 7
FIE IR ST R M FIF 11
I 70 d & TvA fasa-afsa ¥

| YT T D R dfeus S| E R waw: |

(A), (B), (C), D) QA ifFafrmmm ¥ |
gm?ﬂm@ﬁmmﬁmﬁ
|
@afwwéﬁaﬁmﬁmmw '
Tt I S |
el i 9 IW Y '-%aa T T ﬁ «
3N, e RAA/HA STA @EE T
AWRAHFAR |
AHERTE® 3k WM F & HIY JagH

LI

mmwwmaaﬁmwmﬁm'
T 1Ty @ FE oft 3= afsia areh e
faafaene & fFramgar sEam 3 |

el 39 A TR T A SHH ]

MTH.AR. ¥ W wEyTt | W)

3N.TH.IR. M W HE ot Ffe T R 9m
ol i eraeff wdem |

A g B R ok il sl @
weg el TR 1 e I S &, o SR
FUIRRO 61 & T AAT S |




Space for Rough Work
Tod wE & faw wme

31.‘—Eé6nomics . | 2



»

1.

-2

3.

Amrita Pritam’s work “A Revenue

Stamp” is :

(A) A book of stories

"(B) A novel

(C) A biography

(D) An autobiography |

H;iw .many states in India ?‘

(A) 32

(B) 33A

L€ 29

@) 24

Which of the following is not the

subject of .Union list ?
(A) Defense -
(B) Foreign Relations
© l;’»aﬁlging

(D) Land Revenue_

: 31—ECOnomics

1. mﬁﬁwaﬁgﬁk‘qﬁqm’

R

(A) FEfE # & [EH

(B) ERRZIn .

(C) Sfterdt

(D) SwHA

YRd § T %

(@A) 82

(B) 33

(C) 29

D) 24
Freifea § S o 9 g § 9
.y | |

(A) &7

(B) ﬁéﬁ'm

'(,ca st

(D) T



4. ’Syponym"of ‘Kin’ is : 14 Kin %1 waigart ¢ .

" (A) Associate - o (A) Associate
- (B) Colleague ' | | (B) Colleagué
(C) Friend (C) Friend

(D) Relative o) Relative

5. Antonym of ‘Impartial’ is : L
YL 5. ‘Impartial %1 f5elm ¥ :

(A) Hostile :
- (A) Hostile

(B) Biased
(B) Biased

(C) Unbiased B
(C) Unbiased
(D) Worried L
ﬂ (D) Worried
6.  Which one of the following words is . '

o | 6. ot B g J g IR ¥ :
correctly spelt ? ‘
. , (A) Necessary
(A) Necessary , »

" B) Necesarr

(B) Necesarry (} ) . eoesarty

©) Necesary (C) Necesary

(D) Neccesary (D) Neccesary

31-Economics ' 4



7. Who is the present chairman of the |-7. wrdia ¥ wftwg # adwm sy € .

| Press Council of India ? \ o
(A) =rEEfd @ TR

(Bj EHfd AT FTeS
(© A Ao T
D) = . <@

(A) Justice CK. 'Prasad
(B) Justice Markandeya Katju )
(©) Justice J.R. Mudholkar

| (D) Justice V.S. Dave

- 8.  What number should éome next in 8 ﬁ'ﬂﬂ 36, 34’ 30’ 28, 24, R s

the series ? w B
36, 34, 30, 28, o, .. (A 20
@ 20 S | ®e
.»(.B) 2 | © 2
(©) 23 | | D 26
‘© 2 |

9.  FR WA H T Journalism
9. .Whlch, newspaper hgs the‘ mott.o "o f‘ Courage’ %2
‘Journalism of Courage’ ? o '
. o (A) TEH AE gfoea
. (A) Times of India

| - (B) arﬁmza m"e
(B) Washington Post
- (C) The Indian Express (©) 3 Ry m
(D) The Guardian | o =ukw

31-Economics | 5



- 10.

11.

Introducing Kamala, Mahesh said,
Her father is the only son of my
father. Who was Mahesh related to

Kamala ?

(A) Brother

(B) Father
(C) Uncle
(D) Son

For a linear demand curve, which

of the following is true ?

(A) Elasticity of demand is unity ét
all points

B) Ela;sticity of demand is constant

at all poinfs

- (C) Elasticity of demand increases

as one slide down the demand

curve

(D) Elasticity of demandbdeclines as

one slide down the vdemand‘

curve

31-Economics

10. TRY A FHHA Hl IR=I FAQ gL Fal

11.

fr sge fyaret N fast =1
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(A) Wig

®B) fa

(C) ==

D) ™

SRz o A |
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12. Which of the following aspect of | 12. =R & ﬁq Tegsii § ¥ FEE

taxation involves ‘normative m Afemrer | m 4 >
. economics ? | | | |

| | e A) T F FE ) fvon |y
(A) The effect of the tax on g : | :

ipc’entives to work ®) FAR
(B) Thé incidence of the tax IR - A

» o | (C) R araa |+ g
(C) Who actually pays for the tax o -
(D) The faimess of the tax | @ ¥ F1 3@ &

13. When both the price of a substitute 13. v& X w%g F e oiR T ag

- and the price of a complement of | / L
. @ i@ Wg 9@ @ X g #} AN

: commodity X rises, the demand |

fOr X oviveverercessee B AV
" (A) Rises -
(B) firet
(B) Falls | ,
(C) wfafia @ -

- (C) Remains unchanged

(D) All of the above are 'possil;le v (D) Igw At g ¥

» 31;Economids - o 7



14. A fall in the price of a commodity

15.

whose demand curve is a
rectangular hyperbola causes total

expenditures on the commodity to :

" (A) Falls

(B) Rises
© Remains imchanged
(D) Any of the above

Consider the follow_ing

(@ The price elasticity of demand

(i) The income elasticity of demand

(it) The cross elasticity of demand

(iv) The price elasticity of supply

Which of the above elasticities | ..

measure a movement along a curve

‘rather than.a shift in the curve ?

(A) @) and (iv)

(B) (i) and Gii)

(© @ and i)

(D) (7)) and Gv)

31-Economics

14. foet o%g *t FHa F9 80 R, fowwm

15.

w1 o ST e ¥, 39 W R

‘mﬁmﬁagammﬁm@m:

(A)#r‘@m

(B) sem

(C) wafafda wm |
(D)'wj,aaﬁﬁ@_aﬁam%
ﬁvri‘aﬁaaqtﬁw%ﬂm:

@ Wt # ww e

G) = # sm A=
@ii) w1+ et W=
(iv) mﬁfﬁm@a
mﬁ@ﬁ%mﬁmwawv
%ﬁaﬁw%ﬁmw%w(mw

F WY (along)) 7 # @@ ¥ ?
A) @) 3 Gv)
B) Gi) AR (i)

(©) (i) 3R (i)

(D) @) IR Gv) .



16.

17.

31-—Economics

The Engel curvé for-a Giffen good

is :

(A)' Positively slopeci
(B) Negatively sloped
(C) Vertical

(D) Horizontal

A discriminating monopolist. will

-charge a lower price in the market |

in which the price elasticity of :
(A) demand is greater

(B) supply is smaller

- (C) demand is smaller

(D)> supply is greater

16. fife wg & fore oo = & ;o

(A) wTTE T R g

(B) &M TA ol gu

©) w3

. (D) &faw

17.

@faﬁzmmﬁmﬁmwﬁw

HHa age Som, i c o

(A) #ft ®t ®a @9 SR Bef

" (B) rﬁmﬁaﬁm ar Fw At

(© W e A W A

D) gﬁfcﬁaﬁna@a R et



18.

19.

If we have constant returns to scale

and we increase the quantity of
labour used per unit of time by 10

percent but keep the amount of

capital constant, output will :

(A) -increase by 10 percent o

B) decrease by 10 percent’

(C) increase by more that 10

percent -

- (D) increase by less than 10 percent

When the law of diminishing

returns begins to operate, the total

variable cost curve begins to :

(A) Fall at an increasing rate
(B) Rise at a decreésing rate
(C) Rise at an ‘incre’asing rate

(D) Fall at a decreasing rate

31—Economics .
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18, ﬁwﬁ%ﬁmmaﬁmﬁm-

Wwﬁzwmaﬁﬁﬁiﬁdom

¥ ?h'mm :'.

(A) 10 wfawE =g

(B) 10 yfae@ wem

(C) 10 wiowd ¥ QT W

(D) 10 TRwE ¥ W WW

mmaﬁmmﬁmmm

?IIR@W%: |

(A) T R W AR

(B) Wt g Y WG
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20. When o =

21.

31-Economics

for the

| =

and B =

e

Cobb-Douglas production function,

returns to scale are :

(A) Constant

(B) Increasing

(C) Decreasing

'(D);’First ir_icreasing and then

decreasing
At the shut-down pbint :

(A) P = AVC | ,

(B) TR = TVC

ecjual to TFC

1)) All of the above

(C) The total loss of the firm is

11

20. SH o=

% R p= % FI-STEE KA

wew A R P v §

21,

gA)ﬁm A

(B) e

(c)wm
(D)ﬂgéacﬁgq’ﬁmazagq

SARA <% F1 & fag W :

- (A) P = AVC

(B) TR = TVC

() it B er T R § e e

(Ui

D) Iuga gt



22. Which form of monopoly regulation

23.

is most advantageous for the |

consumer ? .

(A) Pﬁce‘ control
(B) Lump-sum tax
(C) Per .unitv tax

(D) All of the above three forms are

- equally advantageous

Quasi-rent is :

'(A)AEqual to the firm’s total

profit

" (B) Greater than the firm’s total

- profits

(C) Smaller than the firm’s total

profit

(D) Any of the above is

'poés'ible |

31-Economics
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22. @@mﬂﬁmﬂmﬁmwsmﬂamaﬁ

23.

 for T AR wERER ¥ ?

(A) =a FrEm
® g =

(C) wfa e =

(D)Wﬁmwﬂm

.

MG TH AT AE T

(A wH R A AN B TR

B) w9 % HA WY ¥ R

© Wi B F@ A A F
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. 24.

i

2.

(A)

(B)

‘Ceteris Paribus’ means that :

no other vériab_le affects the

dependent variable

dependent vanable

(C) other factors are held cthtarit

(D) the model is logical

When nominal GDP is 1100 crore |
and real GDP is 1000 crore, the GDP

deflator will be :
A) 1.10

(B) 110

(C) 90.91

D) 9.09

26.

The natural rate of unemployment '

equals the sum of those who are

(A) Frictionally ahd ,structu‘rall’y‘ '

unemployed

(B) Frictionally and cyclically

- unemployed

N (®)] Stru’eturally' and cy_clically

31—Economics

~ unemployed

(D) Frictionally, structurally and

- -cyclically unemvployed\

no other model can explam ther -

13

24. ‘Ffw =’ (Ceteris Panbus) ]

25.

26.

-araﬁ%ﬁ

(A) ﬁﬂkmﬁmmmqﬁmﬁ
(B) ﬁ%ﬁmaﬁaﬁs‘mﬁquﬁm

(©) o e fer W

(D) e T §

S HifgEw (nofninal)‘ FA ‘Eﬁﬁ R
1100 F5 ¥ 3R andfas wo e Ry
T 1000 FE ¢ @ e aiqmﬁ |
Wﬁﬁ»" (deflator) 1%"14‘:3\2{ o

(A) 110
"(B),11107 :

’ iC) 90.91

®) 9.09 . |
aﬂwﬁﬁwﬁﬁﬂﬁﬂéﬁm%

‘,*q‘m%m%

(A)asfumaihwmaﬂwm

(B) e iR am' AR

(€) T SR T R

(D) SR, WA aﬂ‘{ A



27.

28.

(B)

In a two-sector model, when
consumption is 40 + ;75y. and
investment is 60, equilibrium output

will be :

(A) 750

(B) 500
(C) 400
M) 350
The Phillips curve shows :

(A) an inverse relationship between

the real and nominal wage

an inverse relationship between
the rate of inflation and the rate
of unemplkoyment

(C) a positive relationship between

" the nominal wage and the rate

of unemployment

(D) a positive relationship between
~ the rate of inflation and the

nominal wage

31-Economics
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28.

w fg-im wiew & W@ sy

40 +.75y %aﬂtﬁﬁa‘méo %, & wigfera

@ 750

(B)‘5OO

(C.), 400

(b) 350

frfam o feam ¥ :

(A) wraasaﬂz A wogh @ ¥
% favtin oy T
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=

i
\
|
A

_ (B) When the consumption funcﬁon

- There is a proportional relatidnship

between consumption and disposable
: incomé.
(A) When the APC is the same for

all levels of disposable incdmé

is a strajghtlliné through the |-

origin

(C) When the MPC equals the APC:

for all levels ofv disposéble

income

. (D) All of the above

30.

| - (A) the

Under the flexible exchange system, |

the exchange rate is determined

by : | I

nafion’s
authorities |

(B) ‘fhe» price of gold

‘(C)l» the forces of demand and supply

- inthe foreign exchange market

(D) foreign exchange reserves with-

" Central Bank

" 31-Economics

monetary |

29.

30.

v i e A o @ dre TR
A) v T 47 7 B o W W
st i v W ¢

(B W T e T fog § o

iR

©) V& & 97 7@ F o Wi W

R T

(D) SwgF |t

reftelt fafrra = & s, faf
R & FrulRor Far ¥ :

(4) ¥ F W i g

(B)Fﬁ%aﬁﬁm@m

- (©) fadeht fafirr o # i AR OGR
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31. Which of the following transactions | 31. fr= dei#Q ‘qﬁw =] T | EEUIM

is a debit in the cufreﬁt account ? wq A m oM 2 ‘
(A) Export of handi -
) Expo merchandise (A) T |
(B) Export of services : . |
: (B) warsii &1 frama
(C) Gift to foreigners L
| (C) faRefml =t SwR
(D) Gift from foreigners '
| | (D) fRfe ¥ swR

32. Under the gold standard, the loss of o |
gold and a reduction in the money | 32 m A m% ‘_’"a T # q H IR
supply in the deficit nation lead | = # &t 3R ol i q

to: (A)Wﬁﬁm%&}ﬁ'{‘iﬁﬁ%ﬂ

(A) a reduction in its interest rgte 1?( amﬁ 5

and a capital in flow
o .(B)Waﬁﬁm%é\ﬁ?‘iﬁ%ﬂ
(B) a reduction in its interest rate
o | ] TR tmﬁ ¥

and a capital outflow

© maﬁﬁ_%ﬁ%aﬂiﬁ =

(C) an increase in its interest rate

and a capifal ‘outflow ¥ AR ¥
(D) an increase in its interest rate (D) <A ﬁ et % iR ‘iﬁﬁ W
-and a capital inflow | . B 31:3( STt %

31-Economics ' ’ 16



33.

34.

31—Economics

(B)

D)

To eliminate unemployment and a

- deficit in the balance of paymen'ts'

the nation must employ :
(A) Contractionary fiscal policy and

easy monetary policy

tight monetary policy °

(C) Contractionary fiscal policy and
- tight monetary policy ;
Expansionary fiscal policy and

éasy monetary policy

An decrease in money supply-un.der‘

the ‘Liquidity Trap’ situation will :

(A) increase the rate of interest

(B) decrease the level

employment
(C) increase investment spending

(D) have no effect on interest rate

Expansionary fiscal policy and |

of

17

33.

34.

AR Sger A W 1 i SR A
TR F B forg, Foret T Y SR

() Fgfoa TRt Hfr R T

(B).mmﬁﬁaﬁw
(C)wfaawaﬁtﬁ'qﬁﬁ aihw:na,

s fifa
(D)ﬁwmﬂwaﬁﬁqﬁﬁaﬂtm
mmaﬁﬁqﬁﬁgmaﬂmﬁﬁ
mﬁ‘@ﬁm ]

(A) &I ® T WG S

(B) AR 1 WK FF AW

| (C) fafdm =g sem

D) mﬁ?{miﬁijﬂﬁaﬁm



35.

- 36.

If the Reserve Bank decreases the ,'
repo rate and purchase Government |

securities in the market then it will
lead to :

() an increase in money supply

(@) a rise in the cost of credit
(iii) a decrease in money supply
(lv) a decrease in the cost of credit
Of these statements :

(A) (i) and (iii) are correct

(B) (i) and (ii) are correct

(C) (i) and .(iv) are correct

(D) (i) and (iv) are correct

In the classical model whére demand

function for labour

(Dp) = 170 - 3

and supp‘ly function of labour

o A\
(SL) =30 + 2}5‘,

then full émployment level and real
wage rate will be :

(A) 86 and 28

(B) 28 and 86

(C) 56 and 168

(D) 168 and 56

31-Economics -
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~35.

36.

s frord 3% 1 Y2 werm ¥ ol W
il =t TR ¥ Tled B, 7@
0) gmaﬁgﬁfﬁq@awavﬁ

() SUR ! | W% S

(lu)ﬂ?ﬂﬁ‘{ﬁfﬁﬁ@ﬁﬁ"ﬁ
(zv)wﬁamazsrraﬁ

TmwE TR

A) (@) M i) T& ¥

®) ) 3l ) w@ ¥

(©) (i) 3R (iv) TE &

D) (L) 3?"? (v) HE'T ¥

wfaftsa rﬂ‘m H Glﬁ 9 & tﬁ‘n HEH
(Dp) =170 - 3%—

(S =30+ z%

%aa@ﬁwmmwamwfﬁ

_Wqﬁaﬁ?:?@‘ﬁ

(A) 86 3R 28
(B) 28 3R 86
(C) 56 3R 168

D) 168 a?r{ 56



317.

38.

31-Economics

The first of two sub-groups ‘of a

distribution has 100 items with

mean 15, if the whole of the group

has 250 items with mean 15.6, find ‘

out the frlea'n of the second

subgroup :

(@A) 158

- (B) 16

(C) 16.2

(D) 16.3

The roots of a quadratic equatjon are

5 and -7, then equation is :

A) x-5) @ —T=0
B) x+5) &x+7=0
© G-5@E+D=0

® @+5&-7=0

37.
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38.

A -5 &-17

@mﬁam@ﬁﬁumw
a“#mona"tmmww% laﬁw
T 250}%53“?1@_1&6%@@@?

SYGYE 1 WA ;M

(A) 158

B) 16

(C) 162

D) 163

& fyT e @ T 5 R -7 &,

]
o N

B & +5@+7=0
© x-5E+ND=0

D) @+5) x-T=0



39.

If the total cost function is

, - 2 4
TC = 5000 + 1000 Q — 500 Q2 + §Q3,

40.

then marginal cost will be.:

(4) 5000 + 1000 - '560_ Q+2Q
(B) 1000 + 1000 Q + 2Q

(C) 1000 — 1060 Q +—2Q2

) ‘1006 - 1000 Q + 3Q?

Factor reversal test is satisified

when :

[t
-

(A4) Po; x Py

ZPQ,
(B) Po1 x Qo1 = 3p Q,

v, (8 POI X‘QOI 4= 1

31¥-Econon1ics

ZP,Q,
® 5p,q,

[

39. A FA AW FeH, HA AT

TC = 5000 + 1000 Q'I— 500 Q2 + §Q3 _
, %, ‘T'ﬁ 'Fﬁ'qm F'IT’TH i
(A) 5000 + 1000 — 56,0 Q +2Q
(B) 1000 + 1000 @ +2Q
(C) 1000 — 1000 Q + 2Q2
(D) 1000 - 1‘000 Q + 3Q2

40. T ISHEEEE THE G A ¥ 5

i
—t

(A) PO]. X P].O

(B) Pp1 x Qo1 = 3p q,

(€) Po; x Qpy =1

ZPlQl
> XN

20



41. Which of the following is the | 41. =1 & ¥ fmifew Waw =1 W

example of symmetric matrix ? -
mes] | a2
(A) 2 3 -4 _ . @A) 2-3 _4
. _3 -5 6_ 3 _'_5 6
1 2 3] | o2 87
® |2t |  om |24 5
13 -5 6 o 3 -5 6
(1 3 2] , 7 1 3 27
© 2 4 -2 , , " © 9 _4 -9
3 6 5| - 3 6 5
|1 23 M 2 3]}
2 -4 -5 -
@) | o |2 4 5
3 5 6 3 5 6

42, Coeﬁ'iciént of conelation will be 42, TEEEY T’W &0 B
 always : : |
o (A) I | SR

(A) more than zero B

- B) & i = P A=
. (B) between 1 and zero '

| (0 —131\141%#13
(C) between -1 and +1 . ) ,

(D)@’ém

(D) more than 1 |

31-Economics ' 21



43. Calculate median from the following | 43. fi=1 ¥idw @ wege st oA FHifSQ ;-

series 82, 85, 92, 95, 97, 100, 103.

82, 85, 92, 95, 97, 100, 103.

(A) 934
(A) 934 (B) 92
(B) 92 © 95
(C) 95 ®) 97
D) 97 s

44. If. . y=@2+7 @+ 1)

y=v(x2+7) x+1) d
,s‘r,a’rayauﬁmaﬁmm

calculate @ :
. dx | w2
A BTl A BT+ 1
B) 22+ Tx+ 1 B) 2% + Tx + 1
© 22 +x © 2% +
D) 3 + 2 + 7 . (D) éx2+2x+7"
45. If demand curve is = - 45. afe bfr 9%
P = 100 — 2x. | P = 100 — 2.
here Pis price and x is demand, then %, 98l P #Ha & e x 'q’i‘r[%, 3R
marginal revenue will be : Esie e A e o
(A) 100 - 342 o &) 100 - 32
(B) 100 — 4x ' (B) 100 - 4x
©) 100x — 262 |l © 1000 - 242
D) x-2c | | ) x -2

31-—Ecpnomi¢s . 22



46.. The difference method of calculating

47.

48.

interpolation was proposed by : ‘
(A) Lorenz -
(B) Newton
© Sterlihg

(D) Pascal

Which of the following sectors

contributes .most to the domestic

savings ?

" (A) Private corporatefsectorA
(B Public sector

(C) Public enterprises

(D) Household sector _

When was the first population

census of India completed ?

() 1881

(B) 1891 '

L (© 1872

D) 1901
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49,

In which state the sex ratio is most

-~ favourable in India ?

" (A) Andhra Pradesh .

50.

51.

31-Economics

(B) Tamil Nadu
(C) Karnataka
(D) Kerala

Changes in the rate of interest do
not very much affect the amount of-

money held for :
(A) T’ransactibn‘ motivé
(B) Precautiona’ry motive
©) Speéulé.tive motive
(D) Both tra1.1s'ac‘tion‘ and
precautionary motive |
According to the Knight, profit is
the : |

(A) reward of uncertainties

(B) reward of surplus
reward 6f risk

©

(D) excess of price' over cost
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52.

One reason why people hold money
is that it :

" (A) has intrinsic value

~ (B) is the most conyenient asset for

making payments

- (C) plays a passive role as a

53.

54.

medium of exchange »

(D)v is the only asset which is
perfectly liquid

‘Pure’ interest is :

(A) equal to gross ini:erest

(B Smaller than gross interest
(C) bigger than grt;ss interest
(D) money interesf. minué inflation

_ A devaluation of a notion’s currency

usually. causes internal or domestic |

prices to :
(A) Fall
(B) Rise

(C) Remian Vunchahged '

(D) Any of the above
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55.

56.

57.

(B
- (O)

India’s current Foreign Trade Policy.

is related' to the years :
(A) 2014-2018

(B) 2015-2020

(C) 2015-2018

(D) 2014-2019

Maximum social advantage ta_kes
place at the point where :

(A) Private cost is equal to social
benefits | 4

Social benefit eQuals social cost

_marginal social cost

(D) Marginal social benefit is more

than the marginal social cost

Regressive tax means :

) (A) Tax rate decreases with the

increase income
(B) Tax rate increases with the
increase in income

(C) Tax rate‘does not change with

the increase in income

(D) Amount of tax is same at all

levels of income
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55.

56.

| 57.

¥ gEfua § 2

(A) 2014-2018
(B) 2015-2020

' (C) 2015-2018

(D) 2014-2019
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58.

'59.

60.
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Which of the following canons of
public expenditure is not given by

Findlay Shirras " i

(A) Canon of benefit

(B) }Canon of productivity .
© C_aﬁon of economy

(D). Canon of surp,lu‘sv

In the case-of perfectly inelastic

' deniand, who bears the burden of

tax ?

(A) Whole burden is borne by the

buyer

(B) Whole burden is brone by the

~ seller

(©) By both buyer and seller
(D) None of the above |

Hirchman says the industry with the

highest combined linkage is :

(A). Cement

(B) Sugaf '

(C) Iron and steel

(D) Food processing industry
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61.

62.

63.
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The capital-output ratio :

(A) is the most important

determinant of growth rate

(B) is not relevant for growth rate

(C) is relevant for inflation

(D) is most important for price
stability and growth rate

In his theory of development,

Schumpeter stressed :

(A), the néed for balanced growth

(B) the need for unbalanced growth
(C) the need for infrastructure

(D) the role of_ innbvation’

Classical explanation of ‘the theory_

of comparative cost was based on :
(A)--opportunity cost
(B) labour cost

(C) monetai'y_ cost

(D) total cost
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64.

- (®)

65.

66. .

Which of the following is an indirect

tax ?
(A) a tax \oh compan.y. proﬁts
a tax 6n consumér goocis_
(©) a tax on income
(D) a té.x on ‘wealtﬁ , |

Léwis has divided economy in 3
(A) one sector

(B)' fwo sectors

(C) three séctors

| (D) four sectors

Vertical equity in the distribution of

tax burden can be achie&ed by

_- adopting :
(A) proportional tax structure

- (B) progressive tax structure

(C) regressive tax structure -

(D) degressive tax structure ~
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67.

68.
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Devaluation can improve t_he'
bélance of b_ayments only when the
sum of eiaéticity of demanci for
imports and elasticity of deman’d for |

exports is :

. (A) equal to one |

(B) less than one
(C) greater then one
(D) zero

According to the NSSO, 2011-12, the
share of agriculture in employment

was :
(A) ébout ‘60‘ pergent |
(B) about 58 percent
(C) about 52 peréent

- (D) abput 49 percent

67.

68.
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-69.

70.

Which of the following growth
target had envisaged in the Twelfi:h'
Five Year Plan for Agriculture in
‘India ? | |
(A) 2.5%

. (B) 3%

(C) 3.5%
D) 4%

Poverty estimates based on the

‘Tendulkar committee methbdolg’gy '

for the year 2011-12 in india

shows that the incidence of poverty
" declined :

(A) from 37.2% in 2004-05 to 21.9%

in 2011-12

(B) from 41.7% in 2004-05 to 25.7%
in 2011-12

" (C) from 41.7% in 2004-05 to 21.9%

in 2011-12

(D) from 37.2% in 2004- 05 to 25. 7%'

in 2011 12
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(A) 25%

B 3%

70.

- (C) 35%

| (D) 4%

ﬂﬂaﬁarsi 2011-12 %mmaﬁrﬁ
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(A 2004-05 # 37.2% ¥ 2011-12 &

(©)

(D)

21.9%
®) 2004.05 41.'7%'@ 201112 §
25.7%
2004.05 & 41.7% 3 '2611-12_ 3§,
219%

2004.05 7 37.2% ¥ 2011-12 7

25.7%
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